f(x) = 3z% + 5x — 4;
f(2) =7
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f(x) = 3z% + 5x — 4;
f(2) =7

Réponse :
f(2) =3x224+5x2—4=18.
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f(x) =3(x —1)(z + 2);
f(x) = 3z% + 3z + c, c="7
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f(x) = 3(z —1)(z +2);
f(x) = 3z% + 3z + c, c="7
Réponse : ¢ =3 X (—1) X 2 = —6.
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Factoriser f(x) = x? + 6x + 9.
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Factoriser f(x) = x? + 6x + 9.
Réponse : f(x) = (x + 3)2
(identité remarquable).
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Solutions de f(x) =07
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Solutions de f(x) =0
Solutions : x; = —1



P(x) = 2x? — 3z + 1.
A=7
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P(x) = 2x? — 3z + 1.

A =7

Réponse :
A=(-3)?—-4x2x1=1.
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P(x) = 2x? — 3z + 1.
Somme S et produit P des racines ?
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P(x) = 2x? — 3z + 1.
Somme S et produit P des racines ?

Réponses :
-3 3 1
S=——=— et P=-
2 2 2
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P(x) = 4z — 12x + 9,
indice : A = 0.
Racines ?
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P(x) = 4z — 12x + 9,

indice : A = 0.
Racines ?
. —12 3
Racine double : g = — = —.
2x4 2
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Tableau de

ety = (@ signe de f?
N /
N\ ,
\ /
g
—3 =2 —h_ L 2 3 4 > 6
4 /
N - Réponse :
Tr | —oo —1 5) +o00
f(x) 4+ 0 — 0 +
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f(x) =3(x —1)(z + 2);
Tableau de signe de f7?
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f(x) =3(x —1)(z + 2);
Tableau de signe de f7?

Réponse :
xr |—o0 —2 1 +o0
f(x) + 0 — 0+
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